Subject: Re: Reasons for Non-Use
Posted by Wityc on Tue, 30 Aug 2022 22:52:52 GMT

View Forum Message <> Reply to Message

Hello,

| am having some issues in creating the variable for non-use. I think the denominator could be the
problem but would appreciate your help. One of the reasons for non use if infrequent sex - which |
combined v3a08b (not having sex) and v3a08b (infrequent sex), as below. Could you please help
if this is the correct way of defining the variable and importantly the denominator. Thanks

*infrequent sex

gen infreqsex=0

replace infreqsex=1 if (v3a08c==1|v3a08b==1)

ta infreqsex,m

svy:ta infreqsex agebin ifv213 =1 & v312 == 0 & (v605 ==5| v605 == 2) & v527 >= 100 & v527
<= 399 & v502 == 1,percent format(%4.2f) col
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